240125-notes.notebook January 25, 2024

Find two functions whose limits don't exist but their sum does.
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Is there a number a such that the following limit exists? (If an answer does not exist, enter DNE.)
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Find the value a.
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11. A machinist is required to manufacture a circular metal disk
with area 1000 cm’.

(a) What radius produces such a disk?

(b) If the machinist is allowed an error tolerance of *5 ¢m”
in the area of the disk, how close to the ideal radius in
part (a) must the machinist control the radius?

(¢) Interms of the &, 8 definition of lim,—., f(x) = L, what
is x? What is f(x)? What is a? What is L7 What value of
& is given? What is the corresponding value of 67
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How close to a particular x do we have to be in order to keep f(x) sufficiently
close to a particular y-value?
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That's the extent of what you'll be tested on under a time control (except for
bonus).
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